BiE (&)
HEF= 2011/03/24 14:00

ﬁ%T & =

G P V+HEREIME (2011/03/24

14:00) £T

o B,

jﬂﬁﬁ

?E'.%Fﬁ“‘

BEE1 LER

YA ML 0 141702100 — 372512

b7 o 92km X 92km

EREE = 12000

Y4 bRLHEDORE EEE 102 n/s
AKSIREE: CH

?‘f‘ﬁfj_zl_lz%= PHYSIC

HAEAY B KEAE= 200 kn
[RL51]

EERE

e

10 m/s

1 ABEHMEST1 —25



ASHRE (I3VHR) (GLES)

HEF= 2011/03/24 14:00 - 2011/03/24 15:00

: EBE1 28f KEE R

[KRT—F = GPV+EAE (2011/03/24 14:00) £T

Atﬁgm Q. S

fEiE : 92km X 92km
REEE = 1.00m

[ R3] '

AP BREZER Ba/m3)

1=5.00x10 ~10
2=1.00%x10 ~10 cccccces
3=5.00X10 71 cemommeam
4=1.00%10 N =eceee-
5=5.00X10 ~12 =—cce—-.

BxmE=5 2x10 ~108q/m3
MBSO 0.6 knihs (<ED)

HEEFNL= PRUDA2I
BEREEFNEG= BEEFN

[EtE ) |
o el dee e o e HEAwL 208 KEHE= 1.00 kn
TR | mEE =100

PABEEE  =20000 MWD/MTU
[RFFEFEREZI=2011/03/11 16:00
M BIAEZI  =2011/03/24 14:00
B E— K= BATR A
KU ARTE - 2R (F§E) : Ba/h (Ba)
avxk - :1.00x10 0 (1.00x10 0)

Okm” Q0K 20K 1 ammmEs 28

: 141°02°08" — 37°25° 18"



ERRUIRE R

HEs= 2011/03/24 14:00 - 2011/03/24 15:00

ART—% = GPV+EANE (2011/03/24 14:00) £T
EEH

40 km

-

BEE1 28F LKEE
BiEZ =ZFAHR

H b AR » 14170208 — 37°25°18"

jbe : 92km X 92km
O3K:7) :
ERRIRE EZ(ER (1 Cy/h)
1=5.00%10 ~15 '

2=1.00%X10 _15 cosesces
3=5.00X10 16 emeameam

4=1.00x10 ~16 e
- 5=5.00%10 "1 =—eoam-.

BARER=5 7x10 ~19 4 Gy/h
Bt S DAedbdE 1.4 kmithds (ED)

SEEFTILE= PRWIDA2
FERETINE= BEETFI
GrE3:)
AtEAY 2@ KEAA= 1.00 kn
BEE = 10. 0m
PABEEE  =20000 MWD/MTU
RFIFEIEEEZI=2011/03/11 16:00
M BAAEEZ]  =2011/03/24 14:00
MEE— R=BRMBRH
RIS B EE (EE) : Ba/h (Bg)
EH2 :1.00x10 0 (1.00x10 0)

1AREHES1-258



